Multiplicar Dos Polinomios (B)

DO
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Simplifique cada expresion.

(42° 4 62%)(82° — 927)

(—=32° 4 522)(42% — 72)

- (—9p° — 6p")(—9p* + 8p)

- (4h* — h)(—6h* — 2h)

C(HAfF2)( - 2f7)
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Multiplicar Dos Polinomios (B) Respuestas

Simplifique cada expresion.

1. (42° +62%)(82° — 927)
— 3228 + 1227 — 5426

2. (=32% + 52%)(42% — 7z)
— —122° +412* — 3523

o

3. (=9p° — 6p") (—9p” + 8p)
= 81p" — 18p% — 48p°

1. (4h* — h)(—6R* — 2h)
— —24h* — 2R3 4 2K2

(—4f +2)(f* +2f%)
= —4f° —6f' +4f°

Ut

MatesLibres.com




